Laser Scan Micrometer

Optional Accessories
SERIES 544 — Laser Scan Micrometer (Display Unit)

Digimatic code output unit

¢ 2-channel Digimatic code output

¢ In simultaneous measurement, measurement
data are output as follows:
Program No. 0 to No. 4 in OUTPUT-1
Program No. 5 to No. 9 in OUTPUT-2
(10 programs operated)

* 10 pin MIL type connector.

¢ Output cable is not supplied.
Connecting cable (optional) 1m (936937) SPECIFICATIONS

* Available for LSM-6200 (544-071,544-072) ~ OrderNo. | hefe g0
and LSM-6902H (544-498-1, 544-499-1).

Note 1: Output is 6 digits of measurement data.
Note 2: Displaying 6th and 7th digit after the decimal point is
not supported.

Dual connection unit

¢ Enables second unit connection to LSM-6200
(544-071, 544-072). (both units must be the

same model)

Note: Cannot be used for LSM-6902H (544-498-1, 544-499-1). .

» Depending on the layout of the two measuring units,
large-diameter measurement, XY measurement, and
parallel measurement are possible.

%
(X=Y): runout o * Both of the measuring units and display units

(X+Y)/2: average can be simultaneously operated.

Note: XY requires 10 mm-interval.
SPECIFICATIONS
Order No. | 02AGP150

XY Measurement

2nd I/0 analog I/F

¢ |/0, analog output.

¢ Simultaneous measurement is supported by
two pairs of GO/NG judgment outputs.

¢ Available for LSM-6200 (544-071, 544-072)
and LSM-6902H (544-498-1, 544-499-1).

SPECIFICATIONS

Order No. 02AGC880
Standard Accessories | Connector (DDK) 57-30360 (214188)

Parallel Measurement

.

Cable for BCD and 2nd I/0 simultaneous mount

¢ Both BCD (02AGC910) and 2nd 1/0 SPECIFICATIONS
analog I/F (02AGC880) can be mounted on  Grgaro. | 02AGE060
LSM-6200 (544-071, 544-072) and
LSM-6902H (544-498-1, 544-499-1) using
this cable.

Note: If using this cable, the dual connection unit (02AGP150)
cannot be used.
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